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(1) 0.26+0.35  (2) 0.72 + 0.62

@ (1) 0.51 (2) 1.34 @ (1) 0.51 (2) 1.35
@(1) 0.61 (2) 1.34 @ (1) 0.61 (2) 1.35
® (1) 0.61 (2) 1.37

(1) 0.26 + 0.35 = 0.61
(2) 0.72 + 0.62 = 1.34
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2005

2006

SHg4() | 2110 | 1743
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0.319, 3.019, 0.391, 9.103

@® 9.103, 0.391, 3.019, 0.319
@ 9.103, 0.391, 0.319, 3.019
® 9.103, 3.019, 0.319, 0.391
@9.103, 3.019, 0.391, 0.319

® 0.319, 0.391, 3.019, 9.103
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(1) 256m = ]km
(2) 9056m = _]km

@ (1) 2560 (2) 9.056 @ (1) 2560 (2) 90560
@(1) 0.256 (2) 9.056 @ (1) 0.256 (2) 90560
® (1) 2.56 (2) 9.056

(1) 1000m = 1km
256 m = 0.256 km
(2) 9056 m = 9.056 km
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DO a=o+1 @ Aa=0+2 ® ar=0x%x3
@ A=0Ox4 @A:st




